
1. Albert bought a pencil that cost 22¢. He gave the cashier three dimes. What change did he get back?

A. C. 

B.  D.

2. Shandra is at the grocery store. She bought an apple for 37¢. She gave the cashier 50¢. What change did she get back? 

A. C. 

B.  D.

3. Mrs. Carter bought a bunch of flowers for $4.64. She gave the cashier $5. What change did she get back? 

A. C. 

B.  D.

4. A bag of popcorn at the fair cost Kevin $1.28. He gave the cashier $2.00. What change did he get back? 

A. C. 

B.  D.

Part 2: Pretend you are a cashier at a store.

For each problem below, write the change you would give back to the customer. Do not give a customer more than 5 pennies.

   Making Change with Coins
Part 1: Circle the correct answer for each question. 

Name:   _____________________________________

1. Cost : 12¢  Customer gives: 25¢    
Change: ____ Quarter ____ Dime ____ Nickel ____ Penny

3. Cost : $2.74  Customer gives: $3.00    
Change: ____ Quarter ____ Dime ____ Nickel ____ Penny

2. Cost : 52¢  Customer gives: $1.00    
Change: ____ Quarter ____ Dime ____ Nickel ____ Penny

4. Cost : $6.31  Customer gives: $7.00    
Change: ____ Quarter ____ Dime ____ Nickel ____ Penny
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Students answers may vary. Examples of correct answers
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